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BIOLOGY

( Kannada and Enghsh Versions )
Time : 3 Hours 15 Minutes ] . [\ Max. Marks :.90

( Kannada Version )

Toedsdnieh : 1) en3 AT wonnYRy mHtheas wndsy was.
i) nneay, rTheRs wgnen wosnvRy, AeRoarbEne.
won -1 — ("BEz08,, )

QI -A
85 39N BFNVR BB03R0w8R, WO BT VT 2,00 DBTY 302 : 5x1=5

1. Spues® nosadedh oBWrn, does Somnon Be3 TE,E, SRlIehE,
20082030,% RNA 0, #7082 -

0,800 [ES ®ore038, ( Secondary meristem ) 2,05 SVTIETS 306,
8003 8, 1.8 33T (Wall pressure ) 9, 8T, .

PVATRIT eFoneny WY ( Respiratory quotient ) 9,809, QR.

a s LN

02375000 - 59,01 HOFIRD DOTITERD ?
N -B

& 3N BRSO, SRRTETR 2 IFnen & 803005380, 2 00T 5 SPLALI]
B0 : , 5 x 2 =10

6. ©1BIBEF (Translation ) e, BoIREy, S92,
7. 2e5° FB0& 0E8e 7 o5d DERTIR, PR

8. BT ( Duramen ) &3, Y IFRI® ( Alburnum ) RYNY IEF 0T .
od:aa’gmcsdﬁ QTR T, 3@ ANTTY, S92, '

9. Qo0 LSS, ( Water potential ) 23,0, Q4. BTT QT PLIBATIY, S92
10. M23DORPR CUREITITOR TN, TAER,CHATRY, 50D,
11, Zoaednodnm:, o9,000,0%. w¥exednod 300028, ( Growth curve ) 20m0s AT

woSrivy THOR.
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e -C

8 38N STt mee, JZnen :J:éoimocséﬁ @aﬁé AR 200 - 2-'9 BIENSE,
208000 : 4x5=20

DNA 03 s30t33¢ Torte §5° 5, 30308, L3eninelsy modAs 83 A%3 &&$G~.

B.OT. . 0T, 30@2@36 ( DNA fmgerprin‘ung technique ) QQG TOBNYIY,
QOR.

0,360 JWOT BB ©H03 2 ( Secondary wall thickenings ) QG
RMF%’:&H@R&D ( Xylem vessels ) 2nnesy, oA a&éﬁe; 23 HW0.

LRRORRES B3O8 e DO R L39%9,08N1ERY, Ty, Wk OTOA

d) BYBOL,T W0 TNNTRY, OSSR LIFEIRY, WICWO. 2

b)  23ge0 0,8-7eRR,00e80s ( Cyclic photophosphorylation ) 083, ©238,03
03, 8-595.3,00¢808, ( Non-cyclic photophosphorylation ) <8>S
OSRTYTTTR DT 3,39, AN, TRk, 2

o g, (Glycolysis ) e enndsy, oR0A. 1

UR.03 ©8,0h%y (Golden rice ) ©03,8, R BOIUT, QOR. |

zen - D |
=% b"e;ﬁa? BB ALY, CRRTTOR wowd FF A w0304 ¢ 1x5=5
18. ZpRE-23T0  oN0dRoBR  RITT GWT  OSRERTIWG, QT RT3,
( Schematic representation ) L3c0.

19. 83 ISATINIR To0ronTRY o8 5x1=5
a [RTIREFLITT FTOTI&HNRYS WNTIWNREF T S 0BTLNON0E
0%, TN .

b) Swows (Girdling ) FodRend), wWeddnvd BRTLE FHOIE, .
c  AUG o mytons xodee.

d) RN, a’o‘%eoﬁmﬁ T, &e0BRYYFH ( Passive absorptlon ) ™Ren
mg,zs@m er3s.

e  BEIEIATINING Tom WeTYh BETD BR-FBAMTIER, FITWRTTN LT
o303 BRREANPED, WHRHTT.

( m080ns BOER0 BBAD 0T, )
& 89 YT oE A IO : ' 1x5=5
20. DEXY TR,T SSOD BB, KeFICD LNRIRY, THDBAT 233353'53 22BC0.
21, ROGHES UERY, SR ERD (O, ) DIIERHR G IR §508
S pertssay, GRRNTRy, MOThoATs B3grmoar DO,
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wont - 11 — ( =527, )
NN -E
83 YA F3, e FB03R0mER, 2O BX BETY Word BB, twd0r : 5x 1 =5

VTP FL5awecd ( Incomplete dominance ) ITo¢y ®ITIBRIY, | Phenotypic
ratio ) k. ‘

3. TSRO, 79,87, 4.

[T BRIReowsses ? S
Q0LITSFOORRY, 359,809,V

ROZRTE & X0Zos BT BF,88Z0H NETTERY, BROR.

‘ ayn -F .
8 39N BB NS, SRHTIETR 2T FFNen 2 0B 5 e8,NYE), YOI X ¢ .
5x2=10

Y 2088 3230530260303 DOTBER) 7 WOTD LU TR SR8,

e S R00E, B 0WTERD 7 SSRYTIEUR NTR 03R0E DTN [N NoTE,FOTY,
TR0 ' '

BHH YR 3 DTLEH ( Global warming ) RTBEY FoUmnsh ©333, 0D
FWOFBARNGRY, WIOND

RISRETIRF O ATITIOTE, T FOTTERD ? STT SRYTIRTH DT ©F,LorieRy,
238c00.

208 2w SRenE ( Gonorrhoea ) C3RTYTINICR TN, ©F LoNTRY, Ted, SN,

Kod 133 DG BOIATRY BROR.

R -G _
8 S9N QIR WLy, BN FBodeonts, Eu3,05E 200 - 250 IBNYY,
(Ncevvoltiy 4 4x5=20

FOBOTR F3,08305 AODZRTY, 392. WOTD 0T, YOrTOBTFORRY, $/083), DITOR. -
DRTR 226FFOR PRI J8F0 HRT 22eror 3OOy, VRO
2265 NG, FOBSRD ? e FOF, 30000 VO, GrvT womodeenriTRy HFOR.
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36.

37.

38.

II.

a)  §,08 JOUUR Q0B ? T AFNEY, S9R. 2

b) 1R 3Reex® 303REI0N §odod) Bedeeeieds oS o TR P
ReStee3ng magded 7 2

) SRR BEZL0ET Sue,§ wod, §0IRS, § FLIsHTRy, BHOA. S
SRRBS DECIRFLDDT LNAURY TS 28y, LSCNO.

VEIRCBTPFRITAOT FOTT BRFIITEIR 0T TRweBNEsy, ( Hormones )
3E0A. FB03R0BER, WOTROTD TR, BAR.

aNFon - H

81 39N BB, NV, CIRFTTECR 208 FBA I,08 1x5=5
39. SPRER DyFON 3,30 IRERy, MHTHEAT L3RR, 1D,
40. 85 EPNTYINER Ta0 TRB - 5x1=5

a 0RO 0IRERE, qu@ad ( Bleeder’s ) Soenad=y @»,C.

b) LR IO wem Fan,3n LuEcdereant.

9 6, BHENORD déd:% T t3,8 L00IRNE Seerinert len BE e,

d)  ©gds® (Oxalate ) BT HI0T ©S0IRT L TR, S, LG TL .

c) XZ3NY (Ventricles ) &8,e9¢ ( Atria ) 3,03 rcﬁwwmﬁdagﬁ.

( m3o30en3 aq,éms 2B nes 203,

85 3YNT CINFTIRTR 1o FF R 0B 0% 1 1x5=5
41. NNy, rochasc 23330001 008,35 $055SeHRy, ( Liver lobule) HFOR.

42. a) mieosSmona ( Unfertilized ) 883,03 @0mmaemds wontnedy, hoeas

L38a3y, LaBC0. . ) v 2
b)  D0CEREOTT F0032e%E WOMOBHE & QG teRERLBTIRy, TR0 2

c)  LpRTEE ©0eE, 00 TyRned,3 O 7 1
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( English Version )

Instructions :
i) Draw diagrams wherever necessary.

if) Unlabelled diagrams do not get any marks.

PART I — ( BOTANY)
SECTION - A

Answer the following questions in one word or in one sentence each :
5x1=5

Name the RNA that carries information from nucleus to cytoplasm during

protein synthesis.

Give an example for secondary méristem.
Definc wall pressure.

Define respiratory quotient.

What is Richmond-Lang effect ?

SECTION - B

Answer any five of the following in 2 to 5 sentences each : - 5x2=10

Mention the _four steps involved in translation.

~What is gene therapy ? Mention its types.

Write any two differences between duramen aﬂd alburnum,
Define water potential. Mention its components.

Write any four physiological roles of Gibberellins.

Define growth. Name the different phases of growth curve.
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12.
13.

14.

15.

16,

17.

SECTION - C

Answer any four of the f‘ollowihg in about 200 to 250 words each wherever
applicable : 4 x5 =20

Explain Watson and Crick model of DNA with a labelled diagram.
Explain the steps involved in DNA fingerprinting technique.

With labelled diagrams explain the secondary wall thickenings of xylem

vessels.

List and explain the different external factors affecting the rate of

transpiration.
a) Draw a labelled diagram of section of chloroplast. 2

b} Give any two differences between cyclic photophosphorylation and

non-cyclic photophosphorylation. 2
c) Name the site of Glycolysis in cell. ' 1

Explain the steps in productio.n of Golden rice.

.SECTION - D
Answer any one of the following : : 1x5="5

18. Write the schematic representation of citric acid cycle with

preparatory phase.
19. Give reasons for the following : , 5x1=5
a) Prokaryotic genes are longér than eukaryotic genes.
b) In ghdling experiment, the roots die first.
c) . AUG is initiator codon.

d) In plants passive absorption of water takes place during
daytime. ‘

e) Germinating seeds or flower buds are usually used in the

experiments of respiration.
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i( Questions only from the Practical Syllabus )
Answer any one of the following : : 1x5=5"
20. Draw a neat labelled diagram of T.S. of monocot leaf.

21. With a labelled diagram, describe the experiment to demonstrate the

evolution of O, ( Oxygen ) during photosynthesis in the presence of
- sunlight.

PART II — ( ZOOLOGY )
SECTION - E
Answer the following questions in one word or one sentence each :

bxl =’5
Give the phenotypic ratio of incomplete dominance.
Define dialysis.
What are narcotic drugs ?
Define interferon.

Name the surgical method of sterilization in human male.

SECTION - F

Answer any five of the following in about 2 to 5 sentences each :
5x2=10

What is Y linked inheritance ? Give an example.

‘What is soil conservation ? Name any two mechanical methods of soil

conservation.

Write any fwo causes and two effects of Global warming.
What is myocardial infarction ? Write any two symptoms of it.
List any four sympfoms of Gonorrhoeé.

Name the different phases of menstrual cycle.
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34.
35.
36.

37.
38.

1L

SECTION - G

Answer any four of the following in about 200 to 250 words each wherever
applicable : i 4 x5 =20

State Mendel's ‘law of segregation’. Explain it with a suitable example.
Explain the digestion of carbohydrates in human digestive system.

What is biodiversity ? Explain the ecological benefits of biodiversity.

a) What is double circulatioﬁ ? Mention its types. 2
b) Mention the role of o and B cells of pancreas in glucose metabolisrh. 2
¢) Name the structural and functional units of human kidney. 1
Draw a labelled diagram of human sperm.

Name any five hormones secreted by adenohypophysis of pituitary. Give
one function of each hormone.

SECTION - H
Answer any one of the following : B 1x5=5
39. Draw a labelled diagram of human respiratory system. ;
40. Give reasons for the following : 5x1=5
a) Haemophilia is called ‘bleeder’s diséase'.
b}  Ozone layer is beneficial to biodiversity.
c)  AIDS patient is more susceptible to bacterial and viral diseases.

d) Excessive consumption of oxalate rich food is not good for
health. '

e) Ventricles are thicker than atria.

( Questions only from the Practical Syllabus )
Answer any one of the following : 1x5=5
41. With a labelled diagram, explain the histological details of liver lobule. -
42. a) Draw a labelled diagram of unfertilized egg of frog. 2
b) Name the different types of cells of areolar connective tissue. 2

c)  What is the significance of Biuret test ? 1




